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Internal Assessment Test 1 — March 2025

, . . . Sub .| AIDS &
Sub: | Analysis & Design of Algorithms Code: BCS401 | Branch: CSE(AIDS)
Date: | 26/3/2025 | Duration: .90 Max Marks: | 50 | Sem/Sec: IV-A/B &C OBE
minutes
Answer any FIVE FULL Questions MARKS | CO | RBT
Obtain the topological sort for the graph (take DAG with 7 vertices) by using source L2
lia removal method and DFS method 4 !
b |Define asymptotic notations for worst case, best case and average case time 5 1 L1
complexities with example.
a [Solve it by recursive tree method T(n) = 2T(n/2)+n?, 5 1 L3
2 | . Write a recursive algorithm to search for a key element in an array of size n. Derive
b : . . 5 1 L3
an equation for the best-case and worst-case complexity of your algorithm.
Solve the given graph using Dijistra’s method where Source is B.
(0 A ‘(:-}\ -
\ 24 "} f
3 e | ' 7e) 6 3 L2
’K!‘J\' “ \ =
c v ) e
" L) SBE-
: 2
Construct minimum cost spanning tree using Prims algorithm for the following
graph.
b 4 4 | L2
ii.
a |With neat diagram explain different steps in designing and analyzing an algorithm 5 1 L2
4 b Find the opFimaI tour o_f the following given graph in 3.a using travelling salesman 5 2 Lo
problem(using exhaustive search method)
Design an insertion sort algorithm and obtain its time complexity. Apply insertion
2 Sort on these elements. 25,75,40,10,20, > ! L2
S What are Huffman Trees? Construct the Huffman tree for the following data.
b |Character A, B, C, D ,E - Probability 0.5, 0.35, 0.5, 0.1, 0.4, 0.2 Encode DAD-CBE 5 3 L2
using Huffman Encoding.
Define transitive closure of a graph. Apply Warshalls algorithm to compute transitive
closur? of a c;lirected graph
al0O 1 0 0
6 a b|0O O 0 1 7 4 L2
c|0O O O O
d|l1 0 1 0
b [What is algorithm and write its properties 3 1 L1
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6b. What is an Algorlthm'? Pl operﬁes

An algorithm is a step- by-step procedme to solve a pmblem L

Properties:
Input/Output i
Finiteness
Definiteness
Effectiveness
Correctness




